Find the component form of the vector v with the given magnitude and angle.
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Find the magnitude and direction angle of the vector.
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Navigation
A) An airplane is flying on a bearig of 1354

of the velocity of the airplane.
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B) An airplane is flying on a compass heading(bearing) of 315 at 300 mph. A wind
is blowing with the bearing 220" at 30 mph.
- Find the component form of the velocity of the airpane.

- Find the component form of the velocity of the wind.

- Find the actual ground speed and direction of the airplane
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